[This question paper contains 13 printed pages.]
Your Roll No.
9981 B
M.Com./Sem. I
Paper - 6201: MANAGERIAL ACCOUNTING

(Admissions of 2011 and onwards)

Time : 3 Hours Maximum Marks : 100

(Write your Roll No. on the top immediately

on receipt of this question paper)

Note : Answers may be written either in English ot in Hindi; but the smae

medium should be used throughout the paper.
Rudfl: @ T-v7 w1 IW AN W RS fd T wm
¥ 2fg; AT gl 390 F1 aeam T & EF SRy

Attempt All questions.
All questions carry equal marks.

1. (a) A leading newspaper, The Times of India, ran an
advertisement for itself. The advertisement stated that
the paper, which cost the customer ¥ 2, was a good
bargain because it cost the publisher nearly T 2.50
(X 1.03 for paper, Re. 0.27 for operating labour,
Re. 0.20 for ink, Re. 0.45 for salaries of editorial
employees and Re. 0.52 for other operating expenses
such as executives', salaries, rent, depreciation and
taxes).
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(2)
Is the buyer actually paying less than cost ? What
assumptions do you make to arrive at your answer ?

How can the publisher be so generous to readers ?
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Define and describe the relevance of (i) controliable

and uncontrollable costs, (i7) Product and Period costs.
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Distinguish between Traditional costing and activity based
costing. Exp]ain the advantages and disadvantages of activity
based costing.
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Or/Aqa

What are the functions of management accounting? How

is management accounting different from financial

- accounting?
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Explain responsibility accounting. Discuss merits and
demerits of different measures of divisional performance.

What is the role of non-financial measures in this regard?
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Or/AGAT

(a) Why is variable costing better than absorption costing
for planning, controlling and evaluation of managerial

performance?
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(4)
(b) Identify three cost-based transfer prices. What are

the advantages and disadvantages of these cost-based

transfer prices?
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Mr. Raghavan is the manager of Chemicals Division of
National Fertilizer Industries. All divisions'in the company
use standard absorption costing : normal capacity is the
basis for application of fixed overhead. Normal capacity
in the division is 40,000 units per quarter and quarterly
fixed overhead is ¥ 5,00,000, variable productiont cost is
¥ 50 per unit. Mr. Raghavan has been looking at the
following report for the first three months of the year and
15 not happy with the results.

®) )
Sales (25,000 units) ‘ 25.00.000
Cost of goods sold :
Opening inventory (10,000 units)  6,25,000

Production cost applied 15.62.500
Total 21,87,500

Less : Closing inventory 625,000 15.62,500
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: Gross profit 9.37.500
Volume variance (1,87,500)
Selling and general expenses (5,00.000)

Net Income 2.50.000

The sales forecast for the second quarter is 25,000 units.
Mr. Raghavan has budgeted second quarter production at
50,000 units which is practical capacity for a quarter. The
sales forecast for each of the last two quaﬁers of the
year are also 25,000 units-costs incurred in the second
quarter are the same as budgeted, based on 50,000 units

of production.
Required :

(I)  Prepare income statement for the second quarter

under absorption and variable costing.

(II) Does the income statement for the second quarter
reflect Mr. Raghavan’s performance better than that
of the first quarter? Why or why not?
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The following data are given about two Departmental Stores

run by Big Bazar Organisation.

)

Delli Gurgagn

Store Store

Revenues | 1,07.00.000  86.00.000
Operating Costs :

Cost of goods sold 75,00,000  66,00,000

Lease rent (rencwable each year)  9,00,000 7,50,000
Labour costs (paid on hourly basis)  4,20,000  4,20,000

Equipment depreciation 2,50000  2,20,000
Utilities (Electricity heating) 2430000 4,60,000
Allocate Corporate overhead 500000  4.00.000
Total Operating Costs 1.00.00.000  88,50,000
Operating income (loss) 700,000 (2.50.000)

The equipment has zero disposal value. The accountant of
Big Bazar makes the following comment : “Big Bazar can
increase its profitability by closing down Gurgaon Store or
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(8)

by adding another store like it.”

Required :

D

(1)

By closing down the Gurgaon Store, Big Bazar can
reduce overall corporate overhead costs by ¥ 4,40,000.
Calculate Big Bazar’s operating income if Gurgaon
store is closed. Is accountant’s statement about the
effect of closing the Gurgaon store correct? Explain.

Caiculate Big Bazar’s operating income if Gurgaon
store is kept open and also another store is opened
with revenues and costs identical to the Gurgaon store
(including a cost of ¥ 2,20,000 to acquire equipment
with a one year useful life and zero disposal value).
Opening this store will increase corporate overhead
costs by ¥ 40,000. Is accountant’s statement about the
effect of adding another store like the Gurgaon store

correct ? Explain.
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Jindal Chemical Company began business in 2000, It produces
various chemical products that pass through two divisions.
Division A refines the basic chemical. These refined basic
chemicals are then immediately transferred to Division B,
which then combines them into several chemical products.
During 2007, Division A refined 12,000 units of chemical at a
cost of ¥ 1,80,000. Its administration and other expenses
amounted to ¥ 40,000. Division B incurred ¥ 1,20,000 of
additional costs in completing 10,000 units. No work was
done on the remaining 2000 units. Division B sold the 10,000
units for T 5,00,000. Its selling and administrative expenses
are ¥ 80,000.
Required :
(a) Prepare divisional income statements for A and B
assuming that the transfer price is equal to Division
A’s cost.
(b) Repeat part (a), assurning that the transfer price is

based on external market price of T 20 per unit.
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(¢) Repeat part (a), assuming that the transfer price is
based on negotiated price of T 19 per unit.
(d) Do youthink it is immaterial to the company as a whole
which transfer price is used?
forger D T T T 2000 T 3191 =R Y fora
o1 | 78 F 1A fafim vorfeE ol S s S S
YSRET ¥ BFL IO T 1 TN A STER WA B S A
¥\ A viftm st TarEA q@ v B 1 safa w1 e s
£ Sy 3% eI 3 TR SR S 8 | 9d
2007 % SRR JHFT A X 1,80,000 T It AP W TIRA &l
12,000 IFE # Y$ 61 | 39 WenEiTE qu 3 we
40,000 T 1 I91 B A 10,000 9fT1 #1 0 &3 7 afafiw
1,20,000 ¥ Y TFT TR | 9 2000 FFE W FR FW TE
faman v § IV B 7 10,000 IR Y 5,00,000 T 1 &= fEn
e fowa 9 woefs == sooowgm '
TR FTAY
(®) AR B fau wwria sma faaw g ores R
FifeQ fof ST 19T 9T A S AN H S E |
(@) ST (F) F1 TROGE FITT ¢ AR {3 SR
aﬁﬂazomﬁqﬁaﬁmﬂwmmawﬁa
R
(M) I (F) T UG HifAC, 72 arHE fF i
H94 19 T ¥ Y1 1 Saiad Hind | e ¥

[P.T. O.



9981

(12)
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The Sea Rock Manufacturer produces two products—M

and N. To manufacture one unit each of product M and

product N, the standard time allowed is 20 minutes and 15

minutes respectively. During 2011, the firm operated at a

normal capacity of 1,20,000 machine hours. The budgeted

fixed manufacturing overhead are ¥ 6,00,000 and variable
manufacturing overheads are ¥ 2.50 per machine hour. The
actual production during 2011 was 1,29,000 units of product

M in 45000 hours and 2,00,000 units of product N in 55,000

hours. Actual variable manufacturing overhead were

¥2,32,000 and the actual fixed manufacturing overheads were
< 6,50,000. '

Calculate the following variances :

(I)  For variable overhead :-

(3] Spending variance
(i) Efficiency variance

(Il)  For fixed overhead :

(i) Fixed overhead spending variance

(i) Volume variance
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(iii) Capacity variance

(iv) Efficiency variance
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